Bill No. 373

Date: 02-11-2024

# Somnath Sadhu

Contact No. 8013246100 & 7003151932

(All types of Civil Work)

Subhas Pally, Hatiara, P.O-Ghuni, P.S.-New Town,

Kolkata – 700059

## M / S Travel Food Services Pvt.Ltd. Address: NSCBI Airport Dum Dum, Kolkata – 700 052

SL No.	<b>Location Details</b>	Rate in Rs.	Frequency of Cleaning	Amount
1	Removal of waste sump Pump Pit - TFS Kitchen area (Basement)	3,000.00	4 Times in a Month	12,000.00
2	Removal of waste sump Pump Pit - TFS Cafeteria Front Area (Basement)	3,000.00	2 Times in a Month	6,000.00
3	Removal of waste sump Pump Pit - Car Park Area Bellow 7 Pack	3,200.00	2 Times in a Month	6,400.00
4	Removal of waste sump Pump Pit - Domestic Upper Basement Below Biryani Bhai	4,000.00	2 Times in a Month	8,000.00
5	Removal of waste sump Pump Pit -TFS Kitchen inside (Basement) Night Work	15,000.00	2 Times in a Month	30,000.00
6	Removal of waste sump Pump Pit -Domestic Lower Basement Below Food Court 2	11,000.00	4 Times in a Month	44,000.00
7	Removal of waste sump Pump Pit -Domestic Lower Basement Below Irish House	11,000.00	2 Times in a Month	22,000.00
8	Removal of waste sump Pump Pit -Domestic Lower Basement Below Food Court 1	11,000.00	2 Times in a Month	22,000.00
9	Removal of waste sump Pump Pit -Int Lower (Basement) Below Int Lounge	11,000.00	2 Times in a Month	22,000.00
		Total		1,72,400.00

In Word: One Lakh Seventy Two thousand four hundred Only

Signature

# Re: AMC Quotations for Pit Cleaning and Pipeline Cleaning wok at Kolkata Airport.

### Gaurav Dewan < gaurav.dewan@travelfoodservices.com>

Tue 16-01-2024 12:12

To:Herambraj Sonawane <mumbai.purchase1@k-corp.in>

Cc:Kamal Saraf <kamal.saraf@k-corp.in>;Sudipto Bose <sudipto.bose@travelfoodservices.com>;Priyoranjan Thoi <priyoranjan.thoi@k-corp.in>;Chandan Kumar Das <chandan.das@travelfoodservices.com>;Lovejot Sekhon <lovejot.sekhon@k-corp.in>;Shashank Mahadik <shashank.mahadik@travelfoodservices.com>;Shama Nair <shama.nair@travelfoodservices.com>

Okay with me

#### Best,

Gaurav Dewan +91 96655 15000

From: Herambraj Sonawane <mumbai.purchase1@k-corp.in>

Date: Friday, 5 January 2024 at 5:06 PM

To: Gaurav Dewan <gaurav.dewan@travelfoodservices.com>

Cc: Kamal Saraf <a href="mailto:kamal.saraf@k-corp.in">kamal.saraf@k-corp.in</a>, Sudipto Bose <sudipto.bose@travelfoodservices.com</a>,

<chandan.das@travelfoodservices.com>, Lovejot Sekhon <lovejot.sekhon@k-corp.in>, Shashank

Mahadik <shashank.mahadik@travelfoodservices.com>, Shama Nair

<shama.nair@travelfoodservices.com>

Subject: RE: AMC Quotations for Pit Cleaning and Pipeline Cleaning wok at Kolkata Airport.

CAUTION: This email originated from outside of the organization. Do not click links or open attachments unless you recognize the sender and know the content is safe.

#### Dear Sir

# Please approve Annual Sump Pump Pit Cleaning Contract

#### Service Provider - Somnath Sadhu

Location : Travel Food Services Kolkata Pvt Ltd. , 83 NSCBI Airport, Kolkata - 700052 -

International Airport kolkata

Tenure -25/11/2023 - 24/11/2024

#### SCOPE OF SERVICE CONTRACT

Removal of waste Sump pump Pit From the following dedicated locations

After Removal of waste the complete area needs to be cleaned by Phenyl or any other disinfectant

The parking charges to paid by Contractor only

The vehicle dedicated to collect waste wil not be used for any other purpose at airport premises

Failing to removal of waste from dedicated area as per agreement will attract penalty as appropriate & decided by

"Travel Food Services Kolkata Pvt Ltd"

Sr No	Location Details	Frequency of Cleaning services in a month	Revised Monthly Charges (INR) per Service -2023-24	Total Monthly Charges
1	TFS Kitchen Area (Basement)	4	3,000	12000
2	TFS Cafeteria front area	2	3,000	6000
3	Car Park area below 7 Pack Restaurant	2	3,200	6400

4	Domestic Upper Basement below Biryani Bhai	2	4,000	8000
*5	TFS Kitchen Inside ( Basement ) Night work	2	15,000	30000
6	Domestic Lower Basement below Food court 2	4	11,000	44000
7	Domestic Lower Basement below Irish House	2	11,000	22000
8	Domestic Lower Basement below Food court 1	2	11,000	22000
9	International Lower Basement below International Lounge	2	11,000	22000
10	International Lower Basement below ABC Bar	2	11,000	22000
	TOTAL MONTHLY CHARGES			194400

GST extra would be applicable on above rates.

Payment to be remitted after submission of Approved Invoice, to be submitted along with

Thanks & Regards Heramb

9702415737

From: Shama Nair < shama.nair@travelfoodservices.com>

Sent: Friday, January 5, 2024 3:52 PM

To: Herambraj Sonawane <mumbai.purchase1@k-corp.in>

**Cc:** Kamal Saraf <a href="mailto:kamal.saraf@k-corp.in">kamal.saraf@k-corp.in</a>; Sudipto Bose <sudipto.bose@travelfoodservices.com</a>; Priyoranjan Thoi cpriyoranjan.thoi@k-corp.in; Chandan Kumar Das <chandan.das@travelfoodservices.com</pre>; Lovejot Sekhon clovejot.sekhon@k-corp.in; Shashank Mahadik <shashank.mahadik@travelfoodservices.com</pre>

Subject: RE: AMC Quotations for Pit Cleaning and Pipeline Cleaning wok at Kolkata Airport.

#### Approved

Regards, Shama Nair +91 9821053476 http://www.k-hospitality.com/



Creating memories and inspiring happiness through food, since 1972

From: Herambraj Sonawane < mumbai.purchase1@k-corp.in>

Sent: Friday, January 5, 2024 3:02 PM

To: Shama Nair < shama.nair@travelfoodservices.com >

**Cc:** Kamal Saraf < <u>kamal.saraf@k-corp.in</u>>; Sudipto Bose < <u>sudipto.bose@travelfoodservices.com</u>>; Priyoranjan Thoi < <u>priyoranjan.thoi@k-corp.in</u>>; Chandan Kumar Das < <u>chandan.das@travelfoodservices.com</u>>; Lovejot Sekhon

<lovejot.sekhon@k-corp.in>; Shashank Mahadik <shashank.mahadik@travelfoodservices.com>

Subject: RE: AMC Quotations for Pit Cleaning and Pipeline Cleaning wok at Kolkata Airport.

	{	TRAVEL FOOD SER	VICES KOL	KATA (P) LTD	
Trevel Fund Ser	жер:	SUMP PIT CLEAP	ING -ACTIVITY	REPORT	
SL.NO.	AREA	LOCATION (OUTLET)	DATE OF ACTIVITY	NAME OF STAFF	SIGNATURE OF
01)	TFS Kitchen Backside	Domestic Up Basement	03-10-24	ToyobAli, B. Dus Bachu Nunshi	(Rund w)
021	Careparek below	UP Basement	13-10-24	ToyeloAli, B. Das.	Bunner
03)	7 Puck Rostaurcont	up Basement	13-10-24 24-10-24	Toyab Ali, B. Das Rachy Munshi Toyab Ali B. Das	Primier
141	Below bireyem bhai	Up. Basamen -	24-10-24	Da din Mund	( Manual or
420	TFS beat-Kitchen (Night-Work)	Dowestic Lower	24~ 10-24	I VIRACLU MINALI	( ) Was
07)	Below Food Court-2 Below Iroish house	Domestic LOWER	13-10-29	10 HOP HO; B. DWY.	Bunden
180	Below food Coux -1	Domestic Lowere	24-10-24 13-10-24 24-10-24	Toych AU, B. Das Rachy Munshi	Runder
09)	BelowIntLounge	100 m	12-10-24	Toyal Ali B. Day	Burder
1.1	TFS Kitchen	Domestic	19-10-24	TOXELOAL, B. DOD.	
10)	back Side	Up Bosement- Dome Stic Lower	29-10-24	Bachullunshi	Binder
44	Below food Courts	Basament	29-10-24	Racke Nunshi	(MONDAL)
	-				h•
					<del></del>
				<u> </u>	
:				3.72	